ST 3A1HBE (oA HRA+HSAEAN)

KW 4 HEE S | B[ (A) | B [ (B) | ##Pk | B (A+B) | I
T 2,529 -5 2,807 -6 2,876 6 5, 683 12
T — T H 1,082 4 985 2 840 0 1,825 2
R — T H 628 2 579 1 570 1 1, 149 2
AT =TH 672 3 710 2 662 -1 1,372 1
JHPTETIU T H 485 -7 502 -8 524 -7 1,026 -15
T T H 347 1 363 -1 327 0 690 -1
JHPTHTS T H 310 -1 373 -1 386 -1 759 -9
FLoRHT 216 0 203 0 214 0 417 0

A 381 -1 441 ) 452 0 893 )

T H 1,988 11 2,017 1 2,105 10 4, 122 11
PIPTHT 348 ) 339 -1 329 0 668 -1

T H 957 -3 1,012 -5 986 2 1,998 7

T —TH 283 -3 345 —4 390 -1 735 -5
HHT T H 350 0 418 -2 432 -1 850 -3
T =T H 512 4 661 2 636 -3 1,297 -1
FHTIU T H 295 -1 402 0 388 2 790 -2
NEE it 235 0 261 -1 251 -1 512 )

W = 300 -1 353 -3 330 -1 683 —4

— YK 449 3 457 5 463 4 920 9

— Y ARHT—TH 0 0 0 0 0 0 0 0
YR TH 32 0 43 0 43 0 86 0
LN 110 -3 121 -1 118 2 239 -3

— Y K¥H 6 1 7 2 6 1 13 3
KH» 45 691 -1 861 3 859 0 1,720 3

Rk 4> 4,167 ~459 4, 389 —432 4, 620 —467 9, 009 -899

IR 4,170 -731 3, 805 -780 3, 882 -806 7,687 | -1, 586
HikE— T H 462 462 436 436 468 468 904 904
FHETTH 712 712 758 758 794 794 1,552 | 1,552
TR A 1,461 2 1,539 -3 1,572 0 3, 111 -3
=+ 6 0 10 0 7 0 17 0
ELR—TH 949 0 798 -5 944 -1 1, 742 -6
ELR TH 1,151 4 1,075 4 1,172 2 2, 247 6
B5+H=TH 863 —7 761 -7 847 -3 1, 608 -10
B EAMNTH 727 —4 696 7 725 -1 1,421 -8
B+HRATH 722 ) 751 —4 672 0 1,423 —4
BE+RASNTH 0 0 0 0 0 0 0 0
T’ 1,993 3 1,952 -1 1, 846 4 3, 798 3

¥y —TH 308 6 312 2 315 3 627 5
oy m_TH 247 -1 249 -4 248 -2 497 -6
Iy =TH 449 7 435 3 457 4 892 7
¥ U T H 781 0 687 -1 814 -3 1,501 -4
ey EH T H 451 -3 497 0 508 -3 1, 005 -3
FHIT— T H 253 0 292 -2 323 -3 615 -5
R T H 600 1 574 0 631 -5 1, 205 -5
BT =T H 194 0 182 -1 235 0 417 -1
it 33, 872 -9 34, 458 —61 35, 267 -31 69, 725 -92




